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*Yijkl = p + Ai + Bj + AB(ij) + Pk + eijkl

*

JoVI Jololl iSguunll A>U s\l 68 Liuodl:Yijkl
H lo £ bbal) kg ll Jolol jo

o) pldl bawgiodlip ™
A JolJl 5wl AT ™

B JolJl ,uil:Bj™

J=1adl iz AB(ij) ©

e lasJl ,uili:Pk *

Sl bl wiliiEijk *

* aob | 25004l



bl Jd=i Jga>

S.O.V. d.f dgusallF A8

Block r-1 SSr MSr

A a-1 SSA MSA FA=MSA /MSe

B b-1 SSB MSB FB=MSB /MSe
AB (a-1)(b-1) SSAB MSAB FAB=MSAB /MSe
Experiment (ab-1)(r-1) SSe MSe = |----mmee--

al Error.




*CF=  (Y..)?

F abr ,R= Y Yk.2
o ab
*SSr=R - CF

A= YYi..? =SSA = A - CF=

o br

® B =1)Yj= ,SSB=B-CF
4 ar
*  AB=7YYijk.2 /r

*ssAB=AB-A-B+CF

RAB = ¥ Yijk2 , SST=RAB-CF |,
*SSe = RAB - R- AB + CF



vl Bl e U5l OW (99 ,aaell Lol,9
J>bos A 0L el o, BB jeael
Qoulud| Lol 8V acuws wolSg B j0,JL axslSol
Joa=xdl (9 o S 83¢3ladl auell (a8

03a8 o0 Juadl Wl oo Sl Lellaoll 1esJUI
Slogins JioVl daalgill (s LogSa=slSoll b







bl

Jrl=illg guolzoll Jga=

145
180
325

b2

70
65
55
95
60
50
395

r2

125
120
245

b3

Yi..

a JI golxo
102 372
100 400

377



CF= 49665.33

SST= 2368.667

SSB= 1948.167

SSA 65.33333

SSAB 248.1667

SSR 27
SOV DF SS MS F-CAL F-TAB.0O5 F-.01 SIG.
R 1 27 27
A 1 65.33333 65.33333 12.09877 6.61 16.3*
B 2 1948.167 974.0833 180.3858 5.79 13.3**
AB 2 248.1667 124.0833 22.9784 5.79 13.3**
ERR. 5 27 54
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Bl B2 B3 MEAN
Al 72.5b 62.5 51 62 b
A2 90 a 60 50 66.66 a
MEAN 81.25 a 61.25b 50.5¢c
= 2.571
A=3.44935
LSD-= 8 B=4.224584 AB= Ab=5.9744
0oila)l o Jlail) Soizo 8,8 U8l Ll o
Sl

17.83=t * /2*mse/r=2.571*( 2*5.4/2)"0.5=



